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2024
ECONOMICS
( Honours Core )

Paper : ECO-HC-4016

( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer.the following questions : ~  1x10=10
ST 2Py el fam -

(a) What is Pareto optimality?
coiess” el ¥ 2
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()

(c

(d)

(e)

(@)
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(2)

Is there transportation cost under
perfect competition?

oFf AP TERS AR T SR ?
What is market failure?
R Reael §2

What is the shape of MR curve under
second degree price discrimination?

A% o ® Recfiveae AT S QIR
SIS AT W ?

Define supernormal profit.

wPyreIRS Areq weel |

What is a perceived demand curve?

wge vk 3 R 2

Write correct or incorrect :

" “Under monopolistic competition, there

are a few sellers.”

0% 9T B

“qRIA AN EAT I RIF R
e’ : ’

( Continued )

(3)
(h) What is oligopoly?
IRFR I R 2

() What is meant by moral hazard?
e R Jfereal B @R 2

() What is a two-person game?
fa-afe = R 2

2. Answer the following questions : 2x5=10
oY PARd T

(a) What is a contract curve?

R e R ?

(b) Mention two important characteristics
of public good. '

el TR o1 @ G e 4

(c) What is produét differentiation?
St sjediea 2
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(4) (5)

(d) Mention two applications of game (d) How is the peak-load pricing done?

theory. B Explain.
3 O B 2! o 91 | | T S35 a7 991 2 1 T
() What is information asymmetry? | . fe) Explain the Bertrand equilibrium.

O Sl R ? | . TGS SRS M < |

() Briefly explain the concept -of adverse
_ selection. ,
3. Answer any four of the following questions : ﬂw CRiLE %IH‘TIZ%I (53 RS
N 5x4=20 :
, O 2RI R T B T o 4. Answer the following questions : . 10x4=40

©olq IR B i

(a) Explain briefly equilibrium and

efficiency under pure exchange. S .
i ° ) (a) Discuss the = equilibrium  price

of RATR crae Somel oF vl T and output determination under
bR TR0 monopolistic competition.
o CIRFR AR IS SR T =E
(b) What is Coase theorem? Explain. Beoma YR ScEma 40 |
e R I - Or/9A@l
o R , Compare | “Iva‘ex‘fectly competitive
() Explain the ‘prisoner’s dilemma’. equilibrium with monopoly equilibrium
T R’ T T 5 m'w STl W Ws\%m
: SR Poel 31 |
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. |
(6) - (7)

-(b) Discuss the equilibrium of two-person
zero-sum game with maxi-min and
mini-max strategies.

‘af-fm W fR-oe @R SRS,
R~ *#-CT191 (I7F SISl A 41 |

{d) Discuss how production possibility
frontier and social indifference curve
determine allocative efficiency.

T SRS (I AF TR FIeers @ik
R RS e Al I, e 41 |

Or /31
Or /9311
Discuss the problems associated

with the markets with asymmetric Discuss how both positive . and

information. negative externalities can lead to
R ' ? market failure. :
wfe O IWRI IO WYS SFIPNR Lo :
AL T - WY OF IR AR, ek R
. o TR Rerer Pt 3 <R, e <11 |
kK

(c) Discuss how Pareto efficiency in
. production is achieved.

Beoqe (3D’ ROl (FTME A1 W,
D 41 |

Or /5[l

How are equilibrium price and output
determined under third degree price
discrimination? Discuss.

TN R W ReoueITe O W W
o e fReiae 31 =0 2 SeEms 90
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